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Directions (Q. 1-5):- Direction for Question

Study the following information carefully and answer the given questions:

Following pie chart 1 shows the total number of students in six different colleges and 

pie chart 2 shows the percentage of students in different streams in different colleges. 

(Stream's percentage is common for all the colleges)
निम्ननिखित जािकारी का ध्यािपूर्वक अध्ययि करें और निए गए प्रश्न ों के उत्तर िें:

पाई चार्व 1 में छह अिग-अिग कॉिेजन ों में छात्न ों की कुि सोंख्याऔर पाई चार्व 2 में नर्निन्न कॉिेजन ों में नर्निन्न

शािाओों में छात्न ों के प्रनतशत का नर्र्रण निया गया है। (सिी कॉिेजन ों के निए शािाओों का प्रनतशत उियनिष्ठ है)
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Q.1:- Find the average number of ME, CSE and AG students in JSS College?

जेएसएसकॉिेजमें एमई, सीएसईऔर एजीछात्न ोंकीऔसतसोंख्या ज्ञातकरें?

(A)405 (B) 428 (C)316 (D)224 (E) None of these
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Q.2 :- Total number of students in KIET College is approximately what percentage of total 
number of ME students in GLA College?
केआईर्ी कॉिेजमें छात्न ोंकी कुिसोंख्याजीएिएकॉिेजमें एमईछात्न ोंकी कुिसोंख्याका
िगिग नकतिा प्रनतशत है?

(A)320% (B)250% (C)370% (D)480% (E) 444%
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Q.3 :-If the ratio of male and female students in Azad College is 3: 2 and the ratio of male 
and female IT students in the JSS College is 3:1, then find out the sum of total number of 
female students in Azad College and the total number of male IT students in the JSS 
College?यनिआजािकॉिेजमें पुरुषऔरमनहिा छात्न ोंका अिुपात 3: 2 है और जेएसएस
कॉिेजमें पुरुषऔरमनहिाआईर्ी छात्न ोंका अिुपात 3: 1 है, तनआजािकॉिेजमें कुि मनहिा
छात्न ोंकी सोंख्याऔर जेएसएसकॉिेज में पुरुषआईर्ी छात्न ोंकी कुिसोंख्या ज्ञातकरें?

(A)356 (B)444 (C)228 (D)390 (E)None of these
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Q.4 :- Find the difference between the total number of AG students in GLA College and 
KIET College together to that of total number of EC students in JSS College?
जीएिएकॉिेजऔर केआईईर्ीकॉिेज में एजीछात्न ोंकी कुिसोंख्याऔर जेएसएसकॉिेजमें
ईसी छात्न ोंकी कुिसोंख्या के बीचकाअोंतर ज्ञातकरें?

(A)36 (B)45 (C)54 (D)72 (E)18
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Q.5 :- Find the ratio between the total number of IT students in KIET College to that of 
total number of ME students in AIMT College?
केआईईर्ीकॉिेज केआईर्ी छात्न ोंकी कुिसोंख्याऔर एआईएमर्ीकॉिेज के एमईछात्न ोंकी
कुिसोंख्या के बीचकाअिुपात ज्ञातकरें?

(A)12: 19 (B)4:7 (C)21:29 (D)1:1 (E) None of these
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Q.6 :- After 10 years A's age will be twice the B's age 10 years ago. If A's present age is 9 
years more than B's present age, what is B's present age?
10 र्षव बािA कीआयु B के 10 र्षव पूर्व कीआयु की िुगुिी हन जायेगी। यनिA की र्तवमािआयु B 
की र्तवमािआयु से 9 र्षव अनिकहन तन B की र्तवमािआयुक्या है?

(A)19 (B)29 (C)39 (D)49 (E) None of these



\Q.7 :- A started a business investing Rs. 20,000. After 2 months B joined the business with 
Rs.24000. After 4 month from the starting of the business A invested Rs. 8000 more while B 
withdrew Rs.4000 after 6 months. If at the end of the year profit was Rs.65000, what is B's 
share? A, िे 20,000 रू. निरे्नशतकरके एकव्यापारआरम्भ नकया। 2 माह बाि B 24000 रू. 
निरे्नशतकरकेव्यापार में शानमि हन गया।व्यापारआरोंि हनिे के 4 माह बािA 8000 रू. और
निरे्नशतकरता है जबनकB 6 माह बाि 4000 रू. निकाि िेता है। यनि र्षव के अोंत में कुि िाि
65000 रू. हन तन B का नहस्साक्या है?

(A)38000 (B)25000 (C)32000 (D)27000 (E) None of these



\Q.8 :- In how many different ways can the letters of the word 'TRANSFORMATION' be 
arranged so that all the vowels always come together?
शब्द 'TRANSFORMATION' के अक्षरन ोंकन नकतिे नर्निन्न तरीके से व्यर्खथितकरसकते है नक
सिीस्वर एकसाि रहें?

(A)2721600 (B)5443200 (C)1814400 (D)1360800 (E) None of these



\Q.9 :- In a table tennis tournament, some male and female participated from different 
states. Every participant had to play exactly one game with every other participant. It was 
found that in 66 matches both the players were female, and in 253 matches both were male. 
Find out the number of matches in which one participant was a male and the other was a 
female is    एक रे्बि रे्निस के रू्िावमेंर् में नर्निि्ि राज्यन से कुछ मनहिाओऔर कुछ पुरूषन
िे िाग निया। प्रत्येक प्रनतिागीकन िूसरे अि्य प्रनतिागी के साि एक िेि िेििा है। ये पाया
गया नक 66 मैच में िनिन खििाडी मनहिायेऔर 253 मैच में िनिन खििाडी पुरूष िे। उि मैचन की
सोंि्या बताइये नजिमें एक प्रनतयनगी पुरूषऔर एकमनहिा हन|

(A)264 (B)242 (C)276 (D)253 (E) CND
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Q.10 :- In a school, age of 20% students is less than 8 years. The number of students
more than 8 years is 2/3 of the number of students of 8 years, while number of students of 8 
years is 48. What is the total number of students in the school?
एक नर्द्याियमें 20% छात्कीआयु 8 र्षव से कम है। 8 र्षव से अनिकआयु के छात्न ोंकी सोंख्या 8 
र्षव के छात्न ोंकी सोंख्याका है जबनक 8 र्षव के छात्न ोंकी सोंख्या 48 है। नर्द्याियमें छात्न ोंकी कुि
सोंख्याक्या है?

(A)72 (B)120 (C)80 (D)150 (E) None of these
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What should come at place of the question mark (?) in the following number series ?

11 . 18  ,  117  , 643.5  , 2895.75 , ? , 25337.8125

(A) 11225.225 (B)14260.25 (C)8435.125 (D)10135.125 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

12 . 40320 , 6720  , ? , 336  , 112

(A)1320 (B)1354 (C)1364 (D)1344 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

13 . 7 , 16  , 12 , 30 , ? , 56

(A)23 (B)24 (C)21 (D)25 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

14 . 7 , 4  , 6 , 21 , ? , 1200

(A) 132 (B)135 (C)138 (D)136 (E)None of these
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What should come at place of the question mark (?) in the following number series ?

15 . 729 , 625 , 529 , ? , 361 , 289 

(A)400 (B)676 (C)576 (D)784 (E)None of these
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What value should come in the place of question mark(?)in the following questions.

(?% of 664 ) ÷ 0.8  = 332

(A)80 (B)75 (C)60 (D)50 (E)40



\
What value should come in the place of question mark(?)in the following questions.

³√226981  = ?² − 3

(A)10 (B)8 (C) 7 (D) 9 (E)None of these
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What value should come in the place of question mark(?)in the following questions.

544  ÷ 16 × 32 − 766 + 224= ?

(A) 342 (B)424 (C) 546 (D)625 (E)None of these
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What value should come in the place of question mark(?)in the following questions.

4/7 of  3/11  of  24/13  of  15015= ?

(A)4280 (B) 4320 (C)4480 (D)4550 (E)None of these
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What value should come in the place of question mark(?)in the following questions.

18.5% of 7200 +  27.8 % of 1800 + 16.6 = ?²

(A) 37 (B)39 (C)43 (D)47 (E)None of these
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Direction (21–25): In each question two equations numbered (I) and (II) are given. You 
have to solve both the equations and mark appropriate answer.

(a) If x = y or no relation can be established 

(b) If x > y 

(c) If x < y 

(d) If x ≥ y 

(e) If x ≤ y



\
Q.21 :- I. x2 − 9x −52 = 0               II.  y2 − 20𝑦 + 99 =0

Q.22:- I. x2 + 8x +16 = 0 II. y2 − 9 =0

Q.23 :- I. x2 − 13x +40 = 0 II. y2 − 11𝑦 + 30 =0

Q.24 :- I. x2 + 9x +14 = 0 II. 2y2 − 10𝑦 + 12 =0

Q.25 :- I. 25x2 − 7x −18 = 0 II. 22y2 − 19𝑦 − 15 =0
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